Estimation with confidence intervals

Task.1. Researchers estimated the living area in Poznan in 2003. They selected randomly 70 flats. The
results are shown in the table. Form a 95% confidence interval which covers the value of the average living

area in Poznan in 2003.
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Task.2. In the file Characteristics.sta there is a variable ,,Height”. Form 95% confidence interval for

the mean.

Task 3. In the file Characteristics.sta there is a variable ,,Height”. Form 99% confidence interval for
the standard deviation.

Task 4. In the file Characteristics.sta there is a variable ,,Weight”. Form 99% confidence interval for

the mean.

Task 5. In the file Characteristics.sta there is a variable ,,Weight”. Form 90% confidence interval for

the standard deviation.

Task.6. In the file Characteristics.sta there is a variable ,,Eye Color”. Form 90% confidence interval

for the people with blue eyes.

Task 7. In the file Characteristics.sta there is a variable ,,Eye Color”. Form 95% confidence interval

for the people with green eyes.



